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If on account of half =91 ... — N7 N 18’7 D2 X7 A ON
that is not an omission

Overview

The X723 challenges the view of X01p X1l Xa?5 from a Xn*>72 which mentions
the differences between a an and a 7912. If we maintain X01p X711 Xa79 the
rule would be that if the owner of a on admits to doing damage, he would be
7MWY, since MWd 01P2 77, The XA asks why the Xn»92 does not mention
this difference between a on and a 7¥%. The X3 answers that the Xn»72
omitted this difference. The question was asked what else was omitted. The
X3 replied that 9913 "X was omitted; a 7912 pays 1912 (for killing a person)
and a on is Mwd from (even X77) 7912, At this point there is no question on the
XOIP XT3 299 7", The X continues however and maintains that the
omission of 7912 is not an omission since the Xn»72 follows the view of "
29371 °01 who maintains that a on pays 913 *g1. Our Mo0IN will discuss this
last statement.
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The explanation of this statement 'R 871w IR? 9910 °¥17 0w °X' is that the
Xn3 anticipates a difficulty according to the one who maintains Xp71 X35
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What else did the Xn>12 omit, that it omitted only this rule of *p12 >xn —

The &3 replies that there is no difficulty on the R11am 1"5 7" -
— 0195 99 XY XD 99990 Y01 1249 %1 NNT

Because this 7" will maintain that the Xn>72 follows the view of 3''7139, that

a on pays 1910 °xn and therefore the Xn» 2 omitted nothing. There is no
difference between a on and a 79 concerning 7913,

" The term w2 is (usually) used when there is a difficulty with the simple understanding of the text; and a
second (more complicated) explanation must be offered. The difficulty here is that seemingly we are now
again challenging the X01p 11 X375 7"n that there is no other 2w, since the Xn>"1 is following the view of
A"799. However there is no indication at all that the 8n>92 follows the view of 2"71°9, rather it would seem
the Xxn"2 follows the view of his opponents who maintain that a an does not pay 1912 at all. Therefore the
71w of 1913 is a proper one and there is no difficulty from this Xn>12 to the view of the Xo1p Xpr1 X370 7"n.
What does the X3 mean with the statement X7 X71W 1R 7912 *X1 2wn *R?!

% The X713 is not challenging the X01p X1 X375 7"n (as explained in footnote # 1), but rather the view of
R RpPTI RI9D,

3 According to the X0Ip X1 X329 7"n the Xn*>72 omitted two laws 032 7711 and 1913; however according to
the X311 RP11 X399 7"n, the N2 omitted only one law; the ruling of 191.

* The X3 does not actually ask this question, rather the statement X177 X1 17 9912 “¥1 QW7 X is an
answer to this anticipated question.,

* See 3" "2 >"w1 and X7 7"72 MBI,
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mooIn seeks to validate this explalnaltion:6
23,1 97 n20) DIINN P92 (3,09 97 11) 12390 NYWHY P9 RIIN NIN) INNIY

For there is a similar situation in 2°1° w2 P9 and in 157 Poo.

Summary
The statement X177 871w 18D 1910 21N X is to resolve any question on the 7"

X117 RPTI RA9D.

Thinking it over
Does the X117 ®p11 8395 7"n follow the view of 2"17°7 that 7913 *2n o%wn an?

® The difficulty inherent in this explanation is that initially the X3 challenged the view of X03p 1"5 (and
resolves it), then without any indication, it responds to an undisclosed (anticipated) question on the 1"5 7"n
X110, This is highly unusual. N1901N maintains that there is precedent for this.

7 See Moo there 7w 11"7 who explains the X723 there, similar to his explanation here.

8 See MooIN there X 7"7. See 0"wr 11°93 here.
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